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1 |6R178 |[N\REESKREAAQ J\AKXH P LoA 1.53 085 HH
2 |6A178 |\R{ENAKH J\AKXH P LoA 1.09 |08FEHH
3 [6A178 |\R{FERA J\XKH BN FAI7ILE 0.66 085 FHH
4 |6R17H |N\R{EHOA J\XKH 87 FAI7ILE 0.90 |08FEHH
5 [6A178 |N\REEAEZEHREEAD|{ZHE AHhE FAI7ILE 0.71 [08FHHH
6 |6H178 |N\REBJIER Z3H T FRAI7ILE 0.75 |08E#H
7 | 6A178 |\REES {ZFHH E0[:gk:>] FTRAI7ILE 0.85 |08EH FH*H
8 [6A178 |\ R{EOHH {Z3H H FAI7ILE 0.72 085 #*H
9 [6A178 |\REBARBILEVS— BT Z/R4t TRAI7ILE 1.04 [08FHHH
10 | 68178 [N\R{EMHE {ZFHH AR FTARAI7ILE 0.77 |08EH H*H
11 [ 68178 [N\NR{EEARIL A KRH =3 FTARAI7ILE 0.92 |08FHFHH
12 | 68178 [\XFAXR P N::| IISES TRAI7ILE 0.68 |08E H+H
13 | 68178 [/\RIFBAKH 7 RH EihHEH TRAI7ILE 0.87 |08E#*H
14 | 68178 [\RFHE P N::| FEE TRAI7ILE 0.62 085 #+H
15 | 6A178 [N\ REESEZ5HT A KRH b FTARAI7ILE 0.70 |08FH FH*H
16 | 6A178 |[\AEESEHIF -] 2B av9—k 0.58 [08FE F#H
17 | 68178 [\ R{ZHE AT B I\t TRAI7ILE 0.66 085 H*H
18 | 6A178 |N\RERARN -] AV N av9)—k 0.93 [08FEF#H
19 | 68178 [/\ZEEHHH -] /M av9)—k 0.70 [08&E#H
20 | 6R17H |N\REEA B ER avy)—k 0.75 [08F HH
21 | 68178 |AXKHERFR P N::| FRAT IR AQ avvy—k 0.65 |08EHFHH
22 [ 68178 |E/RIE P N::| - Nivi BEERT av9—b 0.85 [08FHH
23 | 6R178 |/\KEHLEE J\AKXH L) AO 7RI7ILE 0.62 |08E#+H
24 | 68178 |/\KBEKFR J\KH G AOQ 7RI7ILk 0.89 |08EHEHMH
25 |6R17H |ER&ERA a2 I\t AR x 0.99 |08FE#+H
26 |6R178 [{IZHHBEEEFR Z3H FEEE A0 £ 0.91 [08FHHH
27 | 6R178 |LBERA Z3H EETE AO ## 0.96 |08EH+H
28 |6RA178 | FHEMTSERAAD (58 7H FRAI7ILE 0.98 (08FH HH
29 [68178 | FHEMTHERBMAOD |FE 7H FRAI7ILE 1.00 |08FH FHH
30 [68178 | FHMTHERNBIR |FE 7H 24 0.05 |08EFHH
31 | 6A208 |ARELR 7AAH =2 PRE 1.83 |08E HH
32 | 64208 |ARKHKFRALE 7ZAH KFERA hRE EZ 1.13 |08FH HH
33 | 6H20H |HEBREREUVIS A KRH HEH hRE + 1.35 [08FH HH
34 | 6A208 |0 RE UG 7 KH REA PRE 1.21 085 HH
35 | 6A208 [MEOFE2RE VIS Nz RO hRE MEHR 1.20 |08FEHH
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36 | 68208 [HEOEIREWL UG A AH fEO hRE HEH 1.22 |08E HH
37 | 6208 |ARBARBEZRRERVE |HARHA TR IR hRE HEH 1.27 |08E HH
38 | 6208 |MiEEMIRERBVIE A AH e RRE 1.24 |08E HH
39 | 6208 |t/WNfFREREVE |AKH /R RRE L 1.23 |08FHH
40 | 6H208 (FEMREEVE 7 RH Lizpe! PRE MEHR 1.21 |08FEHH
41 | 6A208 (AABEERBEREVE (AAH AH hRE T4 1.14 |08 &5 H#HH
42 | 6A208 |KHFFREERENS A AH AH hoif + 1.01 |08E HH
43 | 68208 (HAKAE AARH AT hRE HEH 1.12 |08E H#HH
44 | 6A208 (AREAARKEHAR P N::| AXAKH PRE 1.25 |08 5 HH
45 | 6A208 (fPIRREHVE 7 RH IR PRE 1.80 |08FEHH
46 | 65208 [LBRREHEUVS P N::| EBER PRE 1.59 |08EHH
47 | 68208 |[E/KRIRE VIS A KRH E/KRiL PRE MEHR 2.20 |08 HH
48 | 68208 |FE/ARILKRih A ARH E/KRiL PRE MEHR 1.79 [08FH HH
49 | 64208 [/\XHE#BBAREREVE |/\KH 87 PRE MEHR 1.20 [08FH FHH
50 | 6A208 |EERNREEUE J\XKH BN PRE 1.47 085 HH
51 | 68208 |/\KEAH#HF LREEVE [/\KH HFE PR 1.19 |08FEHH
52 | 68208 |FI#D>&FANIAE  [/\AKH HFE ETE5 WA 1.09 |08FEHH
53 | 68208 | >&FANIIAE  [/\AKH HFE REIMLAT 24 1.71 |08FEHH
54 | 68208 | >&FANIAE [/\AKH HFE FEEINLAT #EHR 1.57 |08EHH
55 | 64208 |FEDO>&AIIAE |[/\KH HFE FEALEERT 1.45 [08FHHH
56 | 6178 |/\KB#ER v I—2 |/\KH h5 PR LU 1.25 |08 FHH
57 | 68208 |JIIRMEENILAE J\AKXH NERA PRE MER 2.09 (08FH FHH
58 | 6H20H |HE 2B REEU B £y PRE MEHR 1.11 [08FHFHH
59 | 6A20 |HEREE2RERVE T8 £y PRE MEHR 1.03 [08FH FHH
60 | 65208 | T IR &k {Z3H TR PRE MER 2.03 (08FH FHH
61 | 68208 ({ZHERMELE Z#H BihE FREE L 1.12 |08FH HH
62 | 6R178 |HohhHAHDYLE Z3H EEA JIUR Ry + 1.57 |08FH HH
63 | 6R178 |HohhHAHDYLE {Z3HH HERA CEDRRE & 1.69 |08E HH
64 | 6H178 |ALBREH UV 1ZFH EETE hRE + 1.16 [08FH HH
65 | 68208 |AAHBERREEVE |(AKH =2 HhE A 1.63 [08FH FHH
66 | 65208 |AAHBERREEVE |(AKH =2 T B 1.54 |08 & HH
67 | 68208 |AAHBERREEVE |(AKH =2 t+ c 1.58 |08E HH
68 | 68208 |AAHBERREEVE |(AKH =2 D 1.52 |08 & FH
69 | 68208 |AAHBERREREVE |(AKH =2 T E 1.59 |08 & HH
70 | 6208 |AAHSERE#RVE |AAKH =2 avyy—k F 1.44 085 HH
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71 | 68208 |FAHERRERENE |AKHA =)= BNE G 2.06
72 | 68208 |FAHERRERENE |AKHA =)= HEH H 1.86
73 | 6H208 |[AAEHERREHEVNE |[AKH == T 1 1.54
74 | 6H208 |[AAEHESRREHEVNE |[AKH == + J 1.49
75 | 6H208 |[AAEHERREHEVNE |[AKH == + K 1.55




